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Worked Examples

Super Trigonometry 3

From: Mathsbox 8/9 Revision Packs

1. The diagram shows triangle ABC.

A B

C

x cm 2x cm

12 cm

84˝

Diagram is not to scale

• AB “ 12 cm.

• BC “ 2x cm.

• AC “ x cm.

• =ACB “ 82˝.

Find x.
Give your answer correct to 1 decimal.
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We use the cosine rule:

AB2
“ AC2

`BC2
´ 2ˆ AC ˆBC ˆ cosACB

ñ 122 “ x2
` p2xq2 ´ 2ˆ xˆ 2xˆ cos 84˝

ñ 144 “ x2
` 4x2

´ 4x2 cos 84˝

ñ 144 “ 5x2
´ 4x2 cos 84˝

ñ 144 “ x2
p5´ 4 cos 84˝

q

ñ x2
“

144

5´ 4 cos 84˝

ñ x “

c

144

5´ 4 cos 82˝

ñ x “ 5.606 077 527 (FCD)

ñ x “ 5.6 cm (1 dp).
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